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�fr�= g>Ã�= ÍÉ»¿IÆ ¼É�¿J¶ Íº>£¶= Ìe=aÝ= L=eÇn¿º 
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אLאאא
   e>{C ��=  L=aÇÃÍªa>�=  ¶    \>rªÝ=Æ ÍÉª>«n¶= L>F·ìJº hÈh£J      �È>£�= ¤º ½Ð=ÇJÈ >�ÍÉ¶Æb¶= =g=�U=Æ 

  Í[¶Ç¯¿�= Í[Èe>RJ¶= f{>^�= Àº ð>{Ç�Æ (Displaced Commercial Risk )  Ä[QÇÈ   =aÇ[j¶= ´[¿E Á
Ëh²f�= vEf ÌeÆ½=hJ¶×=  ÊIÛ>E6) 

1*     Ð>¿E Ç� Ê£j¶=L>É{>ÉJU×=        L>rr^�= e>É£º � Ð>Q >»² Í»¢=b¶=  L>[É{>ÉJU×=Æ   ea>[r¶= 
 ½>£¶= �2003½* 

2*      k·� Í¯ª=Çº Î·¢ ¹Çr�=    Ìe=aÝ=         L>E>[jU H>V[qÙ ¥Çªb�= bÑ>£¶= ¼¢a ¸F® e>»NJ[i×= 
ÅebrºÆ ¼¢b¶= ¼RU À¢ ½>J¶= \>rªÝ=Æ * 

3*  ¥gÇ�= bÑ>£¶= �iÇJº ¤º °ª=ÇJ¶= zf§E ×C ¼¢b¶= X¿º ½b¢ ­e>r�= ÀºÏf]Ù=  * 

4*        ¤[Ñ=aÇ¶= H>VqÙ ½b¯�= ¼¢b¶= ¸É»� ÍÈe>»NJ[i×=        ½b[¢Æ ¸]b[¶= Í[»Ñ>¯¶  Ä£[uÆ �    b[¿E
Í¿Èb�= ÌbqeÙ= * 

Åe=bqC _Èe>I Àº eÇn¿�= =dÂ ËfjÈ* 
 

¥+ Ëh²f�= Á=aÇj¶= ´¿E 
          Àj�= eÇ¿¶= XI>«¶=b»� ÀÈb¶= _Ém ÏÇ�   

ÍÉªfr�= ÁÇÒn¶= Ìe=aC 
�fr�= g>Ã�= ÍÉ»¿IÆ ¼É�¿J¶ Íº>£¶= Ìe=aÝ= 
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